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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]

' N\ M nar—sSse——— —

- WW NN (N s s AV VWVWWW\K

LU

100 1

0 25 50 75 100 125 150 175

30.0

271.5

25.0

NA N/ A

20,0 ZAVER W AN 7
I A WA ATV AT AY

ALEY/AERE

12.5

0 25 50 75 100 125 150 175

90

— RH
———  RHopt

Lo

m A
) UJ/—/f———\

T

—V
V/Y
50 T

o
N
(&}
()
o
~
(&}
—_
o
o

125 150 175

|
—— ETcl
optETcl

3500 ™

/
3000 /} Nh\

2500 \
2000 / A \
1500 /J IV \

1000
/
500 1\ [\l

0 25 50 75 100 125 150 175

|
! T N — LAl |

. i .

1.0 '/

0.5 —/

0 25 50 75 100 125 150 175

1.4

|
optEtRate

1.2

VAN WM Ty

WL A Y Vi .

0 I AL L LY A

0.2

oA LR

0 25 50 75 100 125 150 175



700

600

500

400

300

200

100

Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]

XX

setVIl _ETcl
setVI| _fgRec
setVI_VN
slSetVI

CR- W W W W o

30

40

50

60

70



1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VI _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VO _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VN_pcterr’'] missing

0.0

0.2 0.4 0.6 0.8

1.




Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP5 0
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2411 1365.0 (5)%) 750.0 32 KEC: 2080.0, PH: 6.5

unusual large postFgEt from yesterday (517), set to 450.0 ml.
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BfiE) | GEBIATIE (7)) | EME (BEFH/f) | ERERE (B/R) | XS ERF
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13:20 278 150.0 0.588 |AK/I| 1Ri%e13:20 Bz (GREERSE)
24t]1668.0 (6:%) 900.0 32 KEC: 2080.0, PH: 6.5

unusual large postFgEt from yesterday (681), set to 450.0 ml.
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P5

BTiE) | GEBIATK (F) | EME (EH/) | BEBRERE (/X)) | XK EFRF
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15:20 278 150.0 0.588 PE| {Ri%@15:20 Bz CGRAERESE)
2t 1946.0 (7%) 1050.0 3 KEC: 2080.0, PH: 6.5

FURGEBIEC (2567.0) H5iRE(E (2080.0) REK K, BFHRE.
EYRGEBIEC (2567.0) SiRAVEEY (2080.0) RERKK, BHHE.
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